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Question | Key Answer
Number | Answer
d prejudice

blame

unlucky

diary

qualified

bated breath

make

we have got our house painted

owing to

Had they played well, they’d have won the match.

o

going

been arrested

about whom

What a lovely view you have here

body

mutual friends and relatives

“Struggling in life to reach your goals”

with many wealthy students

strong determination can compensate many things

help her family pay for college

be persistent and has strong will

insist on knowing the accuser

is not wealthy

in a critical situation

some solutions to the food shortage problem

accepted by people

the adoption of new solutions depends mainly on financial profit
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the governmental support
we are still looking for new innovations
can be attacked by insects easily
both of the profitability and the cultural effect are very important
is an unsuccessful solution to food lack problem
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A lot of people have great abilities. If they had used them in their proper place, our homeland would have
risen, and we would have moved towards the real progress that we seek.
d Countries need to cooperate to develop new forms of energy. They must unite to find solutions to reduce
harmful effects such as global warming and overcome fuel shortage.
Suggested answer:
She wouldn’t have adopted Estella to revenge on people. Estella might have admired Pip. Havisham would have lived a
normal life.
Suggested answer:
They were kind somehow. When Magwitch wanted food and the file, Pip helped him and when Pip felt sorry for what
happened to Magwitch in his life.
Essay Question
Total marks: 4
e One mark for relevance of ideas, and accurate use of vocabulary.
e One mark for the required number of words.
Two marks for conventions of standards written English such as spelling, punctuation and structure.
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